
■                に入る数を答えましょう。

67 59 51 50 45
　　わける 　　わける 　　わける 　　わける

④
のこり のこり のこり のこり

45 39 34 27 19
　　わける 　　わける 　　わける 　　わける

③
のこり のこり のこり のこり

51 43 37 31 26
　　わける 　　わける 　　わける 　　わける

①

②
のこり のこり のこり のこり

のこり のこり のこり のこり

　　わける 　　わける 　　わける 　　わける

18 15 9 1

9

27

わける と のこり
年 組 名前

/15



■                に入る数を答えましょう。

　　わける 　　わける 　　わける 　　わける

8 8 1 5

④
のこり のこり のこり のこり

67 59 51 50 45

　　わける 　　わける 　　わける 　　わける

6 5 7 8

③
のこり のこり のこり のこり

45 39 34 27 19

　　わける 　　わける 　　わける 　　わける

8 6 6 5

②
のこり のこり のこり のこり

51 43 37 31 26

　　わける 　　わける 　　わける 　　わける

9 3 6 8

①

27 18 15 9 1

のこり のこり のこり のこり

わける と のこり
年 組 名前

/15


